3.000 cm? = ..o dm? 0,006 cm? = .......coou..e.. M?

500 M2 = oo dam? 1,5 km? = ... dam?

8 000 dam?= .....cccoeeueeuen.. km? 970 mm? = ....cceevunn..dm?

7,5 CM? = oo dm? 1200 M? = e, CM?

0,06 hm? = .....cccovevevrenne. m? 0,03 cm? .....cvvvvrrrrrenne. dm?

9Cm? = e, dm? 12,678 hm? = .......ccccovcerevnen. M?
1300 dam? = ...oovevevennnee. km? 45 dm? = ..o dam?®

40 000 €2 = oo m? 56 000 dam? = .....ccccceeeeeereenne. km?
1346 hm? = ... km? 7 000 000 M? = ......coeuvevreee.. km?

4dam? = .o, hm? 9800 M2 = oeveeeevereeennnn. hM?

I
=
S

12 AM2 = e km? 7 000 km?

1
=
3

40 dam® = oo, hm? 28 000 m?
456 AM? = oo dam? 128 AM? = oo kM?

7dam? = .o hm? 450 da@mM? = oo M2

3.000 cm? = ..o dm? 0,006 cm? = .......coco.c.o.. M?

500 M2 = v, dam? 1,5km? = ... dam?

8 000 dam®?= .....ceeeveeeeuen. km? 970 MM? = ..o dm?

7,5cM?% = e, dm? 1200 M? = voveeeveeveeernn. CM?

0,06 hm? = ......cooeevevuenne. m? 0,03 cm? .....ccovvvrrrrrene. dm?

9CmM? = e, dm? 12,678 hm? = .......ccccevvevrerneen. M?
1300 dam? = oo, km? 45 dM? = oo dam®

40 000 CTN? = oovvrereevereerenens m? 56 000 dam? = ......cocveeververeenne, km?
1346 hm? = ..o km? 7000000 m? = .......ccoeuruneenn. km?
4dam? = .o, hm? 9800 M? = ..ooeevveve e, hIM?

12 AM? = e, km? 7 000 km?
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40 dam?® = .eeeeeerenannn, hm? 28 000 m?

1]
=
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456 AMZ = eoeeeeeeeeern, dam? 128 A2 = oo km?

7dam? = oo hm? 450 dam? = .vveeeeeeeeaenn. M2




